

$$x \cdot \sin x$$

$$y \cdot \cos x$$

Date

No.

$$(5) \quad z = x, \quad z = y$$

$$X_M(x, y, z) = 1 \quad \text{iff} \quad M(x, y, z) \quad X$$

$$M_1(x, z) = 1 \text{ or } M_1(y, z) = 1$$

$$\rightarrow M_1(x, y, x) = "x = y \cdot x"$$

$$\text{iff } (M_1(z, x, 1) \text{ or } M_1(z, x, 2) \text{ or } \dots \text{ or } M_1(z, x, z))$$

$$\text{or } (M_1(z, y, 1) \text{ or } M_1(z, y, 2) \text{ or } \dots \text{ or } M_1(z, y, z))$$

$$\text{iff } (X_{M_1}(z, x, 1) = 1 \text{ or } \dots \text{ or } X_{M_1}(z, x, z) = 1 \text{ or } X_{M_1}(z, y, 1) = 1 \text{ or } \dots \text{ or } X_{M_1}(z, y, z) = 1)$$

$$\text{or } (X_{M_1}(z, y, 1) = 1 \text{ or } \dots \text{ or } X_{M_1}(z, y, z) = 1)$$

$$\text{iff } \exists x < z+1 \quad M_1(z, x, x) \text{ or } \exists y < z+1 \quad M_1(z, y, y) = 1$$

$$\text{or } M_1(z, z, z)$$

$$(6) \quad X_M(x, y, z) = 1$$

$$\text{iff } M(x, y, z) \text{ or } M_1(x, y, x) = "x = y \cdot x"$$

$$\text{iff } (M_1(x, z, 1) \text{ or } M_1(x, z, 2) \text{ or } \dots \text{ or } M_1(x, z, x))$$

$$\text{or } (M_1(y, z, 1) \text{ or } M_1(y, z, 2) \text{ or } \dots \text{ or } M_1(y, z, y))$$

$$\text{iff } (X_{M_1}(x, z, 1) = 1 \text{ or } \dots \text{ or } X_{M_1}(x, z, x) = 1)$$

$$\text{or } (X_{M_1}(y, z, 1) = 1 \text{ or } \dots \text{ or } X_{M_1}(y, z, y) = 1)$$

$$\text{iff } \exists x < z+1 \quad M_1(x, z, x) = 1 \text{ or } \exists y < z+1 \quad M_1(y, z, y) = 1$$

$$\text{iff } \exists x (X_{M_1}(x, z, x) + X_{M_1}(y, z, y)) = 1$$

$$\text{or } M_1(z, z, z)$$

$$(7) \quad X_M(x) = 1 \quad X_{M_1}(x, y) = "x \text{ is } y \cdot z \text{ for } (z, y, z)"$$

$$\text{iff } M_1(x, z) = 1 \text{ or } M_1(x, z) = 0 \text{ or } \dots \text{ or } M_1(x, x-1) = 0$$

$$\text{iff } X_{M_1}(x, z) = 0 \text{ or } X_{M_1}(x, z) = 0 \text{ or } \dots \text{ or } X_{M_1}(x, x-1) = 0$$

$$\text{iff } X_{M_1}(x, z) + X_{M_1}(x, z) + \dots + X_{M_1}(x, x-1) = 0$$

$$\text{iff } \overline{0} (X_{M_1}(x, z) + \dots + X_{M_1}(x, x-1)) = 1$$

$$\text{or } M_1(x, x, x)$$

$$(8) \quad X_M(x) = 1$$

$$\text{iff } M(x)$$

$$\text{iff } M_1(x) \text{ or } M_2(x, y, x)$$

$$X_{M_1}(y) = 1 \text{ or } X_{M_2}(y, y, x) = 1$$

$$X_{M_1}(y) + X_{M_2}(y, y, x) > 0$$

$$\overline{0} (X_{M_1}(y) + X_{M_2}(y, y, x)) = 1$$

$$\text{or } M_2(x, x, x)$$